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Row 2: P2, *K2, P2, rep from * to end.
These 2 rows form rib.
Work in rib for a further 8 rows, ending with RS 
facing for next row. 
Change to 41/2mm (US 7) needles.
Now work in patt as folls:
Row 1 (RS): K2, *sl 2 wyaf, K2, rep from * to end.
Row 2: P1, *sl 2 wyab, P2, rep from * to last st, P1.
Row 3: K1, sl 1 wyaf, *K2, sl2 wyaf, rep from * to 
last 4 sts, K2, sl 1 wyaf, K1.
Row 4: P3, *sl 2 wyab, P2, rep from * to last 3 sts, 
sl 2 wyab, P1.
Rows 5 to 12: As rows 1 to 4, twice.
Break off yarn B and join in yarn C.
Using one strand each of yarns A and C held 
together, cont as folls:
Row 13: As row 3.
Row 14: As row 2.
Row 15: As row 1.
Row 16: As row 4.
Rows 17 to 24: As rows 13 to 16, twice.
These 24 rows form patt and rows 1 to 24 of 
stripe sequence (see above).
Beg with stripe sequence row 25, cont in patt in 
stripe sequence until back meas 45 [46: 47: 48: 49] 
cm, ending with RS facing for next row.
Shape raglan armholes
Keeping patt and stripes correct, cast off 3 sts at 
beg of next 2 rows. 96 [108: 120: 132: 148] sts.
Next row (RS): K1, sl 1, K1, psso, patt to last 3 
sts, K2tog, K1.
Next row: P2 [2: 2: 2: 1], (P2tog) 0 [0: 0: 0: 1] 
times, patt to last 2 [2: 2: 2: 3] sts, (P2tog tbl) 0 [0: 
0: 0: 1] times, P2 [2: 2: 2: 1].
Next row: K2 [2: 2: 2: 1], (sl 1, K1, psso) 0 [0: 0: 0: 
1] times, patt to last 2 [2: 2: 2: 3] sts, (K2tog) 0 [0: 
0: 0: 1] times, K2 [2: 2: 2: 1].
Next row: P2 [2: 2: 2: 1], (P2tog) 0 [0: 0: 0: 1] 
times, patt to last 2 [2: 2: 2: 3] sts, (P2tog tbl) 0 [0: 
0: 0: 1] times, P2 [2: 2: 2: 1]. 
94 [106: 118: 130: 140] sts.
Working all raglan armhole decreases as set by last 
4 rows, dec 1 st at each end of next 1 [1: 1: 1: 5] 
rows, then on 12 [8: 5: 1: 0] foll 4th rows, then on 
foll 14 [24: 32: 42: 43] alt rows. 
40 [40: 42: 42: 44] sts.
Work 1 row, ending with RS facing for next row.
Break yarn and leave sts on a holder.

FRONT
Work as given for back until 62 [62: 68: 68: 74] sts 
rem in raglan armhole shaping.

Work 1 row, ending with RS facing for next row.
Shape front neck
Next row (RS): K1, sl 1, K1, psso, patt 14 [14: 17: 
17: 20] sts and turn, leaving rem sts on a holder. 
16 [16: 19: 19: 22] sts.
Work each side of neck separately.
Keeping patt and stripes correct, dec 1 st at raglan 
armhole edge of 2nd and foll 5 [5: 7: 7: 9] alt rows 
and at same time dec 1 st at neck edge of next 
6 rows, then on foll 2 alt rows, then on 0 [0: 1: 1: 
2] foll 4th rows. 2 sts.
Work 1 row, ending with RS facing for next row.
Next row (RS): K2tog and fasten off.
With RS facing, slip centre 28 sts onto a holder, 
rejoin appropriate yarns, patt to last 3 sts, K2tog, 
K1. 16 [16: 19: 19: 22] sts.
Complete to match first side, reversing shapings.

SLEEVES
Using 4mm (US 6) needles and one strand each 
of yarns A and B held together cast on 38 [38: 42: 
42: 42] sts.
Work in rib as given for back for 10 rows, inc 0 [1: 
0: 0: 1] st at each end of last row and ending with 
RS facing for next row. 38 [40: 42: 42: 44] sts.
Change to 41/2mm (US 7) needles.
Sizes S and L only
Beg with patt row 1 and stripe sequence row 1, 
now work in patt as given for back, shaping sides 
by inc 1 st at each end of 5th and every foll 6th 
row to 42 [-: 54: -: -] sts, then on every foll 8th 
row until there are 74 [-: 82: -: -] sts, taking inc sts 
into patt.
Size M only
Now work in patt as folls:
Row 1 (RS): K3, *sl 2 wyaf, K2, rep from * to 
last st, K1.
Row 2: P2, *sl 2 wyab, P2, rep from * to last 2 sts, 
sl 1 wyab, P1.
Row 3: K1, sl 2 wyaf, *K2, sl2 wyaf, rep from * to 
last st, K1.
Row 4: P1, sl 1 wyab, P2, *sl 2 wyab, P2, rep from 
* to end.
These 4 rows form patt rows 1 to 4 and stripe 
sequence rows 1 to 4 as given for back.
Keeping patt and stripes correct as now set, inc 
1 st at each end of next and every foll 6th row to 
48 sts, then on every foll 8th row until there are
78 sts, taking inc sts into patt.
Size XL only
Now work in patt as folls:
Row 1 (RS): K2, *sl 2 wyaf, K2, rep from * to end.

YARN
	 S	 M	 L	 XL	 XXL	
To fit bust		
	 81-86	 91-97	102-107	112-117	122-127	 cm 
	 32-34	 36-38	 40-42	 44-46	 48-50	 in
Kidsilk Haze and Felted Tweed
A  KSH 	Liqueur	 595	
	 6	 7	 7	 8	 9	 x 25gm
B  FT 	Bilberry 151	
	 2	 2	 3	 3	 3	 x 50gm
C  FT	 Tawny 186	
	 2	 2	 2	 3	 3	 x 50gm
D  FT Rage 150	
	 2	 2	 2	 3	 3	 x 50gm
E  FT	 Ginger 154	
	 2	 2	 2	 3	 3	 x 50gm
F  FT Jaffa 188	
	 1	 1	 1	 2	 2	 x 50gm

NEEDLES
1 pair 4mm (no 8) (US 6) needles
1 pair 41/2mm (no 7) (US 7) needles

TENSION 
21 sts and 38 rows to 10 cm measured over patt 
using 41/2mm (US 7) needles and one strand each 
of Kidsilk Haze and Felted Tweed held together. 

SPECIAL ABBREVIATIONS
sl 2 = slip 2 sts; wyab = with yarn at back (RS) of 
work; wyaf = with yarn at front (RS) of work.

STRIPE SEQUENCE
Rows 1 to 12: Using one strand each of yarns A 
and B held together.
Rows 13 to 24: Using one strand each of yarns A 
and C held together.
Rows 25 to 36: Using one strand each of yarns A 
and D held together.
Rows 37 to 48: Using one strand each of yarns A 
and E held together.
Rows 49 to 60: Using one strand each of yarns A 
and F held together.
Rows 61 to 72: Using one strand each of yarns A 
and E held together.
Rows 73 to 84: Using one strand each of yarns A 
and D held together.
Rows 85 to 96: Using one strand each of yarns A 
and C held together.
These 96 rows form stripe sequence and are 
repeated.

BACK
Using 4mm (US 6) needles and one strand each of 
yarns A and B held together cast on 102 [114: 126: 
138: 154] sts.
Row 1 (RS): K2, *P2, K2, rep from * to end.
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48.5 [54.5: 60: 65.5: 73.5] cm
(19 [21½: 23½: 26: 29] in)
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